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The ever popular Doeberl Cup in Canberra over Easter attracted 228 entries (Open 76, Major 53, Minor 83, Seniors 16). Igor Goldenberg, Darryl Johansen and Dusan Stojic tied for first place with 6/7 while Australia’s top rated player Ian Rogers, after 3 wins, failed to win another game and finished well down the field with 4.5. WA teenager Tom Donaldson scored 3 as well as an excellent 6/9 to come =8th in the Lightning (68 players).  Here is the finish of Johansen’s final round game against 13 year old Moulthun Ly – White to play and win:
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Playing through many of the exellent games from the event was an enjoyable experience.  I have selected an amazing game in which White, 10 year old Raymond Song, sacrifices 3 pieces, obtaining 3 united advanced passed pawns in compensation:

RAYMOND  SONG    -   ASCARO  PECORI

2006 Doeberl Cup  

Modern Defence, Gurgenidze Variation

 1    e4  
c6  


 2    d4  
d5

 3    Nc3  
g6  


 4    e5  
Bg7

 5    f4  
h5  


 6    Be3 
Qb6

 7    a3  
Bg4(a) 

 8    Qc1 
Nh6

 9    h3 
Bd7 


10   Nf3 
Na6

11   Bd3 
Bf5 


12   Be2 
Nc7

13   b3 
Ne6 


14   Qd2 
Qd8

15   0-0 
Qd7 


16   Na4 
b5

17   Nc5 
Nxc5 


18   dxc5 
a5

19   Nd4 
Kf8 


20   Rad1 
e6

21   Qc3 
Kg8 


22   Bxb5!? 
cxb5

23   c6 

Qc8 


24   Nxb5 
Kh7

25   Nd6 
Qc7 


26   b4?!(b) 
Qxd6!

27   exd6 
Bxc3 


28   b5 
Rhd8

29   d7  
a4 


30   Bb6 
Bf6

31   Rb1 
Bxc2 


32   Bxd8 
Bxd8

33   b6!?(c) 
Bxb1 


34   c7   
Bd3

35   Rc1(d) 
Ba6 


36   Kh1(e) 
Nf5

Draw agreed(f) 

a)  Not 7...Qxb2??  8 Na4.

b)  On first sight a blunder but White now gets 3 dangerously advanced united passed pawns.

c)  A further sacrifice to avoid getting his passed pawns blockaded. After the less impetuous 33 Rbc1 Black seems just able to cope with the three pawns – eg 33...Bb6+  34 Kh2, Bd3  35 c7! Bxc7  36 Rxc7, Rd8  37 b6! Bxf1  38 b7, Ba6  39 Rc8, Rxd7!  40 b8=Q, Bxc8.  

d)  The obvious 35 c8=Q leads nowhere: 35...Bxb6+  36 Rf2 (else White simply loses the rook) 36...Rxc8  37 dxc8=Q, h4! (depriving the White king’s access to g2) and Black will bring his knight to e4, winning the rook.  White however would be able to draw by perpetually attacking the unprotected bishop with his queen.

e)  36 Rc5 (threatening another sacrifice Ra5 / Rxa6) 36...Bb7  37 Ra5, Bxc7  38 bxc7 (38 Rxa8, Bxb6+) 38...Rxa5 39 d8=Q, Rb5! leaves Black on top.

f)  If 37 Rc5, Ng3+  38 Kh2, h4!  39 Ra5, Bf6!!  40 Rxa6, Bd4! with ...Nf1+/Ng3+ to follow (37 g4 to give the king access to g2) is met by 37...Nd4  38 Rc5, Nb3). A most unequal state of equilibrium has been reached.  An incredibly imaginative game.

SOLUTION:  1 Bd4! Black resigns (1...Rxd4  2 Qc8+, Kg7  3 b8=Q or 1...Rxb7  2 Qd8#. 

